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𝜃௛௘௔ௗ ∝ 𝜃௣௥௘௬ for both saturated and non-saturated bouts

Saturated bout

Non-saturated bout

Non-saturated bout

Saturated bout

𝜃௛௘௔ௗ

𝜃௣௥௘௬

𝜃௛௘௔ௗ

B

𝜙௔௭

𝜃௛௘௔ௗ

𝜃௛௘௔ௗ, 𝜙௔௭ for all bouts 

𝜃௛௘௔ௗ, 𝑑 for all bouts 

𝜃௛௘௔ௗ, 𝑑 for non-saturated bouts
𝜃௛௘௔ௗ, 𝜙௔௭ for saturated bouts

𝜙௔௭, 𝑑 for all bouts 

Successful representation

non-saturated boutssaturated bouts

Possible 2d representations

𝑑
𝜃௛௘௔ௗ

𝑑௣௥௘௬

𝜃௣௥௘௬

Pre-bout

Post-bout

𝜃௣௥௘௬ 𝜃௛௘௔ௗ
L-shaped  azimuth–distance 

continuum for a selected 𝜃௛௘௔ௗ

𝜙௔௭

𝑑

Non-saturated bouts
Defined by 𝜃௛௘௔ௗ and 𝑑

Saturated bouts
Defined by 𝜃௛௘௔ௗ and 𝜙௔௭


